Year 2 Maths Home Learning

Friday 7t February 2020

We have been learning about division this week and linked it to our learning of multiplication as well. We have also revised

odd and even numbers. Please complete this sheet, fold it and stick it in your child's homework book. Thank you.

Complete the sterm sentences,
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Group the socks into pairs.

Sam and Tom have 12 sweets between them. They share
therm equally. How many sweets does each child get?
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Complete the bar model to show this calculation.

There are ___ sweets altogether.
There are ____ groups.
There are ___in each group.
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I have cubes altogether.
There are ____ in each group.
There are groups.

$FIFP

'y,

| L= *LJ=

| have 24 p and divide it between 2
friends. How much will they get each?
| have 24 p in 2 pence pieces. How
many 2 pence pieces do | have?
What is the same and what's different?
Colour the odd numbers.

48 34 29 12 8 17 23 31
Colour the even numbers.

18 26 3 9 47 33 42 28
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PLEASE GLUE OVER THIS SENTENCE AND STICK THIS SHEET IN YOUR CHILD'S HOMEWORK BOOK.

Circle the mistakes.

Odd

Complete the sentences to share 10 marbles between 2
jars.

Che says,
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QOOLOLY @ 45 equal groups of 5 will be made]
from 30.

There are marbles altogether.
There are jars.
There are marbles in each jar.

Tam has 30 sweets and shares them hetween 5 friends,
Mo has 30 sweets and shares them between 10 friends.

Whose friends will receive the most sweets?
How do you know?

Complete the stem sentences.

=) =) = = =)
| 10 | - | | - | | There are ______ cubes altogether.
There are _____in each group.
| = | a | 10 | There are _____ groups.

Complete the stem sentences.
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| have ___ cubes altogether.
There are __in each group.
There are __ groups.

0-0-0
0-0-0

Group the socks into pairs.
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Complete the number sentences.

X

True or false?

10

= X =10

Group the 1p coins into 5s.
How many 5p coins do we

need to make the same amount of money?

Draw coins and complete the missing information.
* __lots of 5p = 20 one pence coins

*+ __lotsof 5p=20p

« 20p=__x5p
. Mp+5=__
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